
LANDSCAPING



1 V4 ''

1 V4

3" -
■ -■

CITY OF SAN JOSE v *
,-1"

— ‘ A PROJECT OF_____________________ 1V4*-1 *
FUNDING DEPARTMENT

4

1 V2 "

8'-0"

PAINT THIS 
SECTION WHITE

-1"x 2" FINISHED REDWOOD BORDER 
PAINT BLACK (TYP.)

2"-, r1’

FUNDED BY:
1"TYP.

>

1"TYP. - 

DESIGN BY: Y4 "TYP/

-4-2"
CONTRACTOR:

- PAINT THIS 
SECTION WHITE

2'~6"

'CITY COUNCIL a
1"

-1"TYP.

TV2 "TYP.

SCOPE OF
; ^H"TYP.

PAINT THIS SECTION 
BRIGHT YELLOW 

2'-6"

4

AMOUNT OF CONTRACT:

PAINT THIS 
SECTION WHITE 

2'-6"

>

3

y 4 V2

NOTES: 1. SEAL SHALL BE SUPPLIED BY THE CITY.
2. ALL LETTERS SHALL BE PAINTED BLACK AND 'FUTURA' STYLE.

3. SIGN SHALL BE BOLTED TO (2) 4"x 4"x 10'-0" LONG REDWOOD POSTS.

4. SIGN SHALL BE LOCATED IN THE FIELD BY THE CITY INSPECTOR.
5. CONTRACTOR SHALL REMOVE THE SIGN AS DIRECTED BY THE ENGINEER.

6. CONTRACTOR SHALL BE NOTIFIED AT THE PRE-CONSTRUCTION MEETING 
ONTHE NECESSARY WORDING TO BE PAINTED ON THE PROJECT SIGN.

5/8 " A-D 
EXTERIOR 
PLYWOOD

Tx 2’ FINISHED REDWOOD BORDER

2"x 4" REDWOOD BRACE (2 TYP.)
5/8 " BOLT 
(4 REQ'D)

END LAP 
JOINT

2"x SPACER 

2" x 4"

4"x 4' POST 
(2 TYP.)

4"x 4"x 10'-0" REDWOOD POST (2 TYP.) 

FRONT SIDE

APBKCJVEQ.BY

PROJECT SIGN
DRAWING

NO.

DATE

AhVr'
L-l

DEPARTMENT OF PUBLIC WORKS











2 '-0 " TYP.





2'-O '



LEGEND:

(1 ) FINISH GRADE.

(7) SERVICE SIZE GALVANIZED STEEL PIPE FROM WATER METER.

© PRECAST CONCRETE BOX AND TRAFFIC LID WITH EXTENSIONS, AS 

NECESSARY (SEE TABLE B- STRAINER UNIT DIMENSIONS').

(4) Y-STRAINER SIMILAR TO BAILEY NO. 100-A (SIZE AS SHOWN ON THE PLAN)

WITH BLOW-OFF GATE VALVE, SPLIT-WEDGE TYPE, SIZED TO MATCH THE STRAINER 
BLOW-OFF OPENING AND INSTALLED AS SHOWN (FOR PARKS CONSTRUCTION ONLY).

(5) REDUCED PRESSURE BACKFLOW PREVENTER. WILKINS 575RP FOR SIZES 3/4 "

THROUGH 2" AND FOR SIZES 2 V2 " THROUGH 4'. UNIT SHALL BE SIZED AND INSTALLED 
AS SHOWN ON THE PLAN.

© ADJUSTABLE PIPE SADDLE SUPPORT, GALVANIZED STEEL, SUITABLE FOR 

SUPPORTING GENERAL PIPING 3" AND LARGER, FROM FLOOR.

(7) BACKFLOW PREVENTER ENCLOSURE MANUFACTURED BY LEMEUR. ENCLOSURE
SHALL BE SINGLE- SWING TYPE FOR BACKFLOW UNIT SIZES 3/4 ' THROUGH 2"
AND DOUBLE- SWING ("CLAM SHELL") TYPE FOR SIZES 2 V2 * THROUGH 4". FRAME 
SHALL BE 1 V2 "x 1 V2 "x 3/te " STEEL ANCLE WITH 1 V2 " #9 EXPANDED METAL, (SEE 
TABLE A - BACKFLOW UNIT DIMENSIONS' FOR SIZE REQUIREMENT) INSTALL AS 
SHOWN ON THE PLAN.

(7) 6" CONCRETE ENCLOSURE PAD, SIZE AS SHOWN ON THE PLAN.

© SERVICE SIZE GALV. STEEL PIPE RISER WITH A MINIMUM OF TWO (2)

UNIONS FOR THREADED CONNECTIONS.

(jo) GALV. STEEL 90° ELL, FLANGED OR THREADED, SIZED AND INSTALLED AS SHOWN.

© CONCRETE THRUST BLOCK (SEE PAGE W-7 OF THE STANDARD PLAN DETAILS FOR 

PUBLIC WORKS CONSTRUCTION).

© SERVICE SIZE GALV. STEEL PIPE RISER WITH A

MINIMUM OF TWO (2) UNIONS FOR THREADED CONNECTIONS.

© PVC FEMALE ADAPTER.

© MAIN PIPE, CLASS 315 PVC (SIZE AS SHOWN ON THE PLAN).

© WATER METER BY OTHERS (SIZE AS SHOWN).

© SHUT- OFF COCK BY OTHERS.

© 3/4 * TO 1* SMOOTH DRAIN ROCKS, 6" DEPTH, MIN.

© SIZE OF SHUT- OFF VALVE SHALL MATCH BLOW-OFF OPENING.

© TWO COATS OF ENAMEL COLOR SPECIFIED BY THE ENGINEER.

NOTES:

1. GATE VALVES AND TEST COCKS ARE REQUIRED.

2. WATER SUPPLY- NO CONNECTIONS OR TEES WILL BE ALLOWED BETWEEN THE WATER 
METER AND BACKFLOW UNIT.

3. PROTECTION FROM FREEZE DAMAGE MAY BE REQUIRED IN EXPOSED AREAS.

4. DEVICE MUST BE ACCESSIBLE FOR TESTING AND MAINTENANCE.

5. WR^P BURIED GALVANIZED PIPE WITH 3M TAPE AS USED FOR GAS MAINS.

app*6ved/^y
7-----------------------------------------------------------------------------------------------

BACKFLOW PREVENTER UNIT 
LEGEND & NOTES

DRAWING
NO.

DATE L-9
| w1?* Iv DEPARTMENT OF PUBLIC WORKS



TABLE A - BACKFLOW UNIT DIMENSIONS

SIZE
WILKINS RP BACKFLOW PREVENTER MINIMUM ENCLOSURE DIMENSIONS

MODEL LENGTH TYPE W L H TYPE

V4 * 575 RP 11 3/8 " SCREWED 12" 30" 30" SINGLE - SWING HINGE

r 575 RP 11 3/8 " SCREWED 12" 30" 30" SINGLE - SWING HINGE

1 V2 " 575 RP 16 V4 " SCREWED 18" 42" 30" SINGLE - SWING HINGE

2" 575 RP 16 V4 " SCREWED 18" 42" 30" SINGLE - SWING HINGE

3" 575 RP 36" FLANGED 30" 72" 42" DOUBLE - SWING HINGE

4" 575 RP 46 V2 ” FLANGED 30" 84" 42" DOUBLE - SWING HINGE

TABLE B - STRAINER UNIT DIMENSIONS

SIZE
BAILEY NO. 100-A Y-STRAINER REQUIRED CONCRETE BOX & TRAFFIC LID

LENGTH CONN. BLOW-OFF CHRISTY MODEL INSIDE DIMENSIONS

3/4 H-r 4 V2 " SCREWED V2 3/4 " B-3 9 7/8 " x 16 V4 "

1 V2 " 6" SCREWED 3/4 " B-3 9 7/8 " x 16 1/4 "

2" 7 3/8 * SCREWED 3/4 " B-30 13 1/4 " x 24"

2 1/2 " 10 V2 " FLANGED 1 V4 " B-30 13 V4 " x 24"

3" 12" FLANGED 1 V4 " B-30 13 1/4 " x 24"

4" 14 9/16 * FLANGED 1 1/2 * B-30 13 V4 " x 24"

APPROVED BY
A 7 J£

DATE

DIMENSION TABLES

DEPARTMENT OF PUBLIC WORKS

DRAWING
NO.

L-10







=
:
I m c o

s
5
9 2T

O m "O £ z o

L
D

O
^

 

' 
z
 

o

1
'x

 4
" 

R
W

D

P
V

C
 

LA
TE

R
AL

 L
IN

E

4-
P

LY
 1

"x
 2

'-
0
" 

R
U

BB
ER

 
TI

ES
 I

N
S

TA
LL

E
D
 

W
/A

 
TW

IS
T 

&
 

N
A

IL
E

D
 

T
O
 

TH
E
 S

TA
KE

S
P

V
C
 S

C
H
 

40
 

TE
E

P
IN

E 
ST

AK
E

S
C

H
. 8

0 
P

V
C
 

N
IP

PL
E PE

R
FO

R
AT

ED
PI

PE

R
U

B
B

E
R
 T

IE
S 

P
LA

C
E

D
 

6
' 

M
A

X
 

B
E

LO
W
 

M
A

IN
 

FO
R

K
 O

R
 B

R
A

N
C

H
 

IN
S

TA
LL

E
D
 

W
IT

H
 

A
 T

W
IS

T 
A

N
D

 
N

A
IL

E
D
 

T
O
 

ST
AK

E

D
IA
 

LO
D

G
E
 P

O
LE

 P
IN

E 
ST

AK
ES

 
-1

5 
C

A
L.

 O
R
 S

M
AL

LE
R

 
(2

) 
3

" 
D

A
 

LO
D

G
E
 P

O
LE

 P
IN

E 
ST

AK
ES

 
-2

4
" 

B
O

X
 O

R
 

LA
R

G
ER

V
x 

4
" 

R
O

U
G

H
 

R
E

D
W

O
O

D
 

W
IT

H
 

(2
) 

2”
 G

A
LV

. N
A

IL
S
 E

A
C

H
 

C
O

N
N

E
C

T
IO

N
 

(L
O

C
A

TE
 O

N
 

P
R

EV
AI

LI
N

G
 

W
IN

D
 

SI
D

E)

1 
V

4
 '

 G
A

LV
.

R
O

O
F

IN
G
 

N
A

IL
 

(1
 E

A
C

H
 

E
N

D
)

C
O

M
P

A
C

TE
D
 

TO
P

S
O

IL

PL
AC

E 
R

O
O

T 
C

R
O

W
N
 

V
2 

A
B

O
V

E
 F

IN
IS

H
E

D
 

G
R

A
D

E
 

2
" 

O
F 

FI
N

E
 S

C
R

EE
N

ED
 

FI
R
 

B
A

R
K

 

/—
FI

N
IS

H
E

D
 

G
R

A
D

E

3/
4

SC
AR

IF
Y 

SI
D

ES
 

R
O

O
T 

B
A

LL

FE
R

TI
LI

ZE
R
 T

AB
LE

TS
 

A
S
 S

PE
C

IF
IE

D

A
M

E
N

D
E

D
 

P
LA

N
TI

N
G
 

FI
LL

 
M

IX
 A

S
 S

PE
C

IF
IE

D

4
" 

D
IA

 x
 3

'-
0
" 

LO
N

G
 

PE
R

FO
R

AT
ED
 

ST
YR

EN
E 

PI
PE

 W
IT

H
 

ST
YR

EN
E 

D
R

A
IN
 

G
R

A
TE

 C
O

V
E

R
 A

N
D

 
N

O
TE

S-
 

B
U

BB
LE

R
 

IR
R

IG
A

TI
O

N

U
SE

 2
 

PI
PE

S 
IN
 

C
O

N
C

R
E

TE
 C

U
T

-O
U

T
 A

R
EA

S.
 

P
U

T 
PI

PE
 

O
N
 

U
P

H
IL

L 
SI

D
E 

O
F 

TR
EE

. 
LE

VE
L 

SI
TE

 N
O

R
TH
 

O
F 

TR
EE

.

S
C

H
. 8

0 
P

V
C
 

N
IP

PL
E 

PI
PE

 S
IZ

E 
-
 M

A
T

C
H
 

BA
SE

 O
F 

H
E

A
D

P
R

O
V

ID
E
 A

 4
" 

M
IN

., 
6

" 
M

A
X

.
S

LO
T 

T
O
 

A
LL

O
W
 

FO
R
 S

ET
TL

EM
EN

T 
W

R
A

P
 O

P
E

N
IN

G
 

W
IT

H
 

2 
LA

YE
R

S 
O

F 
M

IR
A

FI
 D

R
A

IN
A

G
E
 R

E
A

LI
G

N
 

TA
BL

E
 C

LO
TH

4"
 D

IA
 x
 3

'-
0
" 

P
E

R
FO

R
AT

E
D

 
ST

YR
EN

E 
D

R
A

N
 

PI
PE

FI
LL
 B

O
T

TO
M
 

6
" 

O
F
 D

R
A

IN
 

PI
PE

 W
IT

H
 

D
R

A
IN
 

R
O

C
K

1 
G

A
L

2 
TA

BL
ET

S

2 
O

R
 

5 
G

A
L.

3 
TA

BL
E

TS

15
 G

A
L.

6 
TA

BL
ET

S

2
4
" 

B
O

X
 O

R
 L

AR
G

ER
10
 T

AB
LE

TS
B

U
B

BL
E

R
 

D
E

TA
IL

FE
R

TI
LI

ZE
R



V-6" MIN.

7V 2' MIN. 

(TYP.)

--------------------_ :̂

1"x 4" RWD. T7 '— TREE

«■
- />

* [ ^ T ffiCSdCT

(2) 4-PLY, 1"x 2'-0"MIN. RUBBER TIES 
INSTALLED WITH A TWIST & NAILED 
TO THE STAKES.

2" PINE STAKE (2 TYP.)

1 1/4 " GALV. ROOFING NAILfl EACH END)

1 CAL. 2 TABLETS

2 OR 5 CAL. 3 TABLETS

15 GAL 6 TABLETS

24" BOX 10 TABLETS

FERTILIZER

(2) RUBBER TIES PLACED 6"MAX.
BELOW MAIN FORK OR BRANCH

(2)2" DIA. LODGE POLE PINE STAKES 

TREATED WITH CHEMONITE OR 
APPOVED EQUAL. INSTALL STAKES 

OUTSIDE ROOTBALL (USE (2) 3" DIA.

LODGE POLE PINE STAKE FOR 24"

BOX OR LARGER)

1"x 4" ROUGH REDWOOD WITH (2)2" GALV. 

NAILS EACH CONNECTION (LOCATE ON 

PREVAILING WIND SIDE)

PLACE ROOT CROWN V2 *- 3/4 "
ABOVE FINISHED GRADE

2" OF FINE SCREENED FIR BARK MULCH

— FINISHED GRADE

FERTILIZER TABLETS 
AS SPECIFIED

AMENDED PLANTING FILL 
MIX AS SPECIFIED

4" DIA. x 3'-0" LONG 
PERFORATED STYRENE. PIPE 
WITH STYRENE DRAIN GRATE 
COVER AND FILL BOTTOM 
6" ONLY WITH DRAIN 
ROCKS.

APPROVED BY
/ ' V'\ \ STANDARD TREE PLANTING 

& STAKING DETAIL

DRAWING
NO.

DATE
4/Vv^

L-14
DEPARTMENT OF PUBLIC WORKS








